[7.2] Sequences of Random Variables.
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Desmos finally displayed the discontinuity when n was large enough.

Note, however, the discontinuity exists ONLY IN THE LIMIT.
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Desmos finally displayed the discontinuity when n was large enough.
Note, however, the discontinuity exists ONLY IN THE LIMIT.
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Watch the convergence as n increases.
Note that "Limit of Y(t)" is the limiting distribution and the "Y(t)" is G n(t) (original dist for current n).
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Note how the support set for G_n stretches to the left (x>-In(n)).
In the limit, what will the support set be?

What we are seeing is the convergence of G_n distribution to the
limiting distribution as n goes to infinity. (Limiting dist is EV(1,0))
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Watch the convergence as n increases.  
Note that "Limit of Y(t)" is the limiting distribution and the "Y(t)" is G_n(t) (original dist for current n).
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Note how the support set for G_n stretches to the left (x>-ln(n)).  
In the limit, what will the support set be? 

What we are seeing is the convergence of G_n distribution to the limiting distribution as n goes to infinity.  (Limiting dist is EV(1,0))
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This is the difference between the original CDF (G_n) and the limiting dist G(y) for the constant value of n=10.
It is close to the previous slides on Y, but different in that n is contstant here. Rather, t is increasing.
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The T(t) curve is the original CDF (1-e”(-t))*10 and "Limit of T(t)" is exp(-10e”(-t)).
As t increases, probabilities produced are very close. In practice, we will be using Limiting distributions when
they give us an advantage. Note that as t increases, the difference between original vs limiting gets smaller
and smaller.
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               The T(t) curve is the original CDF (1-e^(-t))^10 and "Limit of T(t)" is exp(-10e^(-t)). 
As t increases, probabilities produced are very close.   In practice, we will be using Limiting distributions when they give us an advantage.  Note that as t increases, the difference between original vs limiting gets smaller and smaller.
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This is the difference between the original CDF (G_n) and the limiting dist G(y) for the constant value of n=10.
It is close to the previous slides on Y, but different in that n is contstant here.  Rather, t is increasing.


